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2.
General Instructions:
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 68 / ESS /1-A on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any one of

the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,

Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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IMPORTANT INSTRUCTIONS

1.  This Question Paper Booklet contains two Question Papers - one based on revised study material
marked as NEW SYLLABUS and the other based on pre-revised study material marked as
OLD SYLLABUS.

2. NEW SYLLABUS is for those candidates who have registered for 2023-2024 (Stream-I, Block-I)

admission and are appearing in October-2024 Examinations.

3. OLD SYLLABUS is for those candidates who has registered before 2023-24 (Stream-I, Block-I)

admission.
4. Candidates are to answer only one Question Paper from the given two Question Papers.
5. Candidates are not allowed to mix questions from the given two Question Papers.
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NEW SYLLABUS /9T UtIshH

PSYCHOLOGY
(328)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 9Ue ] [ gutiek : 100
Note :
(i)  This question paper consists of 45 questions in all.
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All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of
(@) Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.
(b) Q.No. 21 to 29 - Objective type questions. Q.No. 21 to 23 carrying 2 marks each (with 2 sub-
parts of 1 mark each) and Q.No. 24-29 carries 4 marks (with 4 sub-parts of 1 mark each).
(v)  Section - B consists of
(@) Q.No. 30 to 35 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 36 to 41 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 42 to 45 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
‘F-I%E'ST :
() T9 Y- H FoA 45 T T
(i) T we Srfremd ¥ |
(i) TR T 3k I YA & WA few e )
(iv) @vs - & H aftufed €
(a) U W1 W 20 T Tgfahedrd Y § | Yo YA 1 31k & BT | 90 9 Joush T H U U =R
foreredl o Tord SUgE fashey 1 9o i iR ford |
(b) U HEAT 21 ¥ 29 Tk TS U ¥ | WA WA 21 H 23 T YAH o AT 2 37k T | (YA 1 3Ah
% 2 394 |ied) SN 797 WeN 24-29 9o 4 3% &% €1 (A 1 3 F 4 3UHM Hied 1)
(v) @UE-@ H |ifed ©
(a) TS HEAT 30 H 35 Teh, 2 3ok AT 3Afery ST U9, Tk U9 I SR 30 W 50 IRl H = S
2l
(b) WY G 36 ¥ 41 TF 3 ikl AT oY ITIF ¥ o IR 50 W 80 VIsa) ki WA H A F |
() WY T 42§ 45 Th 5 3ol ool < ITRIT U1 o SR 80 W 120 VIsa) ki WA H T ¥ |
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Note / gt .

(1) Answers of all questions are to be given in the Answer-Book given to you.
[T T o IR 3Tk & T STR-YReqen § § e |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 U9-T3 Sl Tgd o fare 15 faee 1w fen 7o ©1 99993 ot forawon Sraex # 02:15 9 fopan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TH A & IRE A
SRR W FE W &l fea@i |

SECTION - A/Q@UE - ©h

1.  Which of the following is NOT a subfield of Psychology ?

(A) Clinical Psychology (B) Astrophysics
(C) Developmental Psychology (D) Cognitive Psychology
frfafad & § S &1 wHifaae &1 398 T8 ¢ 2
(A) eI e (B) W sfifaant
(C) TomrEHe THIfoRH (D) HIHTCHS FATIRH
2. Tanima tries to explain the factors leading to stress and predicts the effects of the stress.

What is the key difference between the prediction and explanation in research ?

(A) Prediction focuses on the future, while explanation focuses on the past.

(B) Prediction establishes causation, while explanation describes relationships.

(C) Prediction anticipates outcomes, while explanation clarifies why outcomes occur.

(D) Prediction is qualitative, while explanation is quantitative.

TN T Y SR & S STl el Rl Foerol S U SR TH1E W qaReH w4l g1 ATHEE §
AT 9 YATAH § 91 & M ?

A) TEHRYF 9fae R HKfEd T el AT Jashial W hi=d T

B) dehe FIUNY Hee T il § Salfeh AR SATaE Heidi il faear | wwe 7

C) YAhe RUMH i ST Il § STelfch SARAT TRUMT il ST T, T TR Sl T |

)
D) YA U § STefch SR IS ¥ |

(
(
(
(

3. A psychologist conducted a survey to examine the frequency of different types of phobias in
a community. What type of graph would be most useful to represent the percentage
distribution of various phobia types ?

(A) Bar chart (B) Scatter plot (C) Line graph (D) Pie chart

Tk BT = gt B fafi=r genr & gufffa =it emafa & wdemn & fa od derfead fean fafu=
YR & gHifa 1 gfaera foaawo gefifa w3 o fau ffe goR 1 I o™ S9arf & 2

(A) R @ (B) ThA wife (C) @I ARE (D) U&=
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4.  Which mnemonic technique involves creating a scenario, or objects arranged in a physical 1
space in the form of visual images to remember a list of items ?

(A) Method of Loci (B) Acronym

(C) Keyword technique (D) Pegword method

o8 A Gt e qonier & o frat afigea o1 goi o steren aigsii i wifds T T 39 TR
afeerd foran S € foF 3Tt 3va Bf9 @ & axqall ot Y= &1 I8 fohan ST Fehar g |

(A)  TH fafy (B) favit
(C) H&A =g fafy (D) e fafy
5.  This theory of emotion maintains that emotions are comprised of two factors : 1

Physiological and cognitive.

(A) The James - Lange Theory (B) The Cannon - Bard Theory
(C) The Physiological Theory (D) The Schachter - Singer Theory
T 1 9% fagia A § fob For 1 Rekl | a1 2t © : AR SR ST |
(A) ST - @ T (B) & - a1 faga
(C) wRIRe g (D) il - TR fagr
6. In the context of problem-solving, what does the term “functional fixedness” refer to ? 1

(A) The tendency to rely on past experiences
(B) The inability to see an object’s potential uses beyond its typical function
(C) The tendency to use trial and error

(D) The preference for creative solutions

T FHIEE % G # sty feerar’ & e €2

(A) 9o AF9el R fovard =t ygfa

(B) forelt ar%q o Herfard ST skl 36k fafirse el ¥ 17 <@ 9 ki srEHe
(C) wRi& Ta Jfe I ITAN LA Hi g

(D) GSIcHS GeATall ohl JreifHekal

7.  This refers to declarative memory which requires conscious efforts in recalling the previous 1
experiences and information.
(A) Implicit memory (B) Explicit memory
(C) Procedural memory (D) Long term memory

T =T WG % w9 H defa foman s ® former fore fuser smaal iR gemstl o6 A & &
foTU T=d YTl Rt STEvIeRdr Bl ¢ |

(A) fifea wfa (B) T wfd
(C) wfswa ot w9 (D) STt wfa
EEE
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10.

11.

12.

68/ESS/1-328-A | 6 i | Contd..

Children incorporate new information into their existing schemes. This is called
of information.

(A) Assimilation (B) Accommodation

(€) Organization (D) Equilibration

el Sed 7T WiS[eT ASTISH H 7 SRt et i § o W SRt 1 T S & |
(A)  SATHHTRTT (B) EHEISH

(©) dmed (D) wge

Around four months of age infants copy or reproduce someone’s act or language. This is
called

(A) Organization (B) Imitation (C) Equilibration (D) Accommodation

TN 4 HEH Y 39 o TIg] foReh o vl A1 AT ST qeecded hd § o 39 el SR |
(A) HTeA (B) AIHIW (C) ¥ (D) HHESH

Neeraj can categorize fruits and vegetables of different types in multiple ways such as those
based on their colour, taste, size and so forth. This cognitive attainment of the concrete
operational thought is known as

(A) Conservation (B) Classification (C) Seriation (D) Centration

It fafi= gohR & wall IR Gfssrdl i 3% T, WIE, SATHR fE F AR W H3 qldehl o Ffiend
F A § | A sk foarl ot Tt T Suafed FHEAM © |
(A) G (B) afteRTml (C) hHIRA (D) sl

Angad thinks more like a scientist. He thinks of all possible solutions of a problem and
systematically tests those solutions. This refers to as

(A) Idealistic thinking (B) Adolescent egocentrism

(C) Propositional thought (D) Hypothetical deductive reasoning

S STRIA T Sk ohi 8 Wradl ¢ | 98 el wwen o wft Sifaa st < oo # drean
¢ 3R o orafeerd &9 § 37 THE F1 T HAO | A7 % &9 H Hefd g g
(A) eTeYEE! 9= (B) ToheiR sr@ehfaad

(C) w&Te fo=X (D) uRehIeafeh fRreHRHs

What does the term “groupthink” refer to in the context of social psychology ?

(A) The tendency for group members to conform to a decision without critical evaluation
(B) The process of brainstorming within a group to generate innovative ideas

(C) The tendency for group members to challenge each other’s opinions

(D) The process of reaching consensus through healthy debate

g T % Hey # ‘g T’ wsg | 7 ared €2

(A) Y % GSE H SAAreHIHS Hedishd & o1 8 wee st fofa ot weafd
(B) Uqe H Ffguiierar i wfshan gr e fa=R ter s

(C) TR % I 51 Toh TR o foraml =l AR <7 =t ygfa

(D) % SR-fqas BRI Wewfd % wgo i Uik
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13. In a study, a group of individuals with moderate political views discussed a controversial
topic. After the discussion, it was observed that the group’s opinions became more extreme.
Which phenomenon does this demonstrate ?

(A) Social loafing (B) Group polarization
(C) Group think (D) Social facilitation
T ' SERATS s faRemT a1er T e T foamereas favd ™ 589 & 1 989 & 918 I8

a7 T foh TR i foarem sifueh aadedt 8 18 | 97 foRd se oh wefia ar § 2

(A) TS TR (B) HYE AR
(C) we feid (D) ISR Tk
14. What is the initial stage in group development according to Tuckman’s model ?
(A) Storming (B) Forming (C) Norming (D) Performing
‘TR Aied' & ATIR T ook o1 IR =0 &F |1 ?
(A) fawrer (B) fmim (C) R frraiom (D) foaTe

15. Rakhi has organised a weekly cleanliness drive in her locality. Identify this component of the
attitude system.

(A) Cognitive (B) Affective (C) Behavioural (D) Extremeness
TE 3T Aot | ATliesh Wesdl STiaH Teifed o gt g1 Afgha o & 59 w2
e |

(A) EAMHR (B)  HToHTcHe (C) =AERINS (D)  Haia/ sretfeehd

16. Bani observes that her mother feels happy when she finishes food. She is forming an attitude

through

(A) Classical Conditioning (B) Operant Conditioning

(C) Modelling (D) Social Comparison

S 98 Tt © TR SRt oY q T8 Bt § ST 9% SO IS 9T o Sl § 1 9% &+
e § erfugf fmior o1 W@ R

(A) T ST (B) foran g SFgeier

(C) wrefem (D) HrHIfSIeh o

17. A period of loss of interest or pleasure in most activities, together with other symptoms
which may include a change in body weight, constant sleep problems, tiredness, inability to
think clearly etc. may indicate presence of

(A) Bipolar disorder (B) Major depressive disorder

(C) Mood disorder (D) Anxiety disorder

Tt srarfyr formd stfererian nifafafedl # = = st 1 @1 % Wg-we o1 Aarl S i 6 oS
H I, TR G 1 T, UM, TR ®9 § "o § e sfe % B
Tohd F T

(A) Teyeit faemr (B) 9HE g foehr

(C) wHrewm fowr (D) T faer
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18.

19.

20.

21.

Disturbance in neurotransmitters in the brain is found to play an important role in the

development of certain mental disorders. This refers to as the cause of some
psychological disorders.

(A) Heredity (B) Biochemical factors

(C) Brain Damage (D) Psychological factors

e # =RgiaHe | Teae 3% aHfaes faewii o fam § mewerul e frrd §1 g9 Hed
Y T § 9 35 AHtge TRl 1 RO AT S R

(A) TR (B) S TEMERTH HRH
(C) wfesh &fd (D) WAIEHH HRH

Radhika was facing stress due to strained interpersonal relationships at home. This can be
attributed to

(A) Biological factors (B) Physiological changes

(C) DPsychological factors (D) Political factors

YRt R I Y0l IREIeh HeiEll & hR0 1 HegH R @I ot | gHR RO Bl
Hhel B |

(A) o wRe® (B) W uRera

(C) ARSI Feh (D) Ui FRe%

Neerja experiences recurrent attacks of anxiety in which she experiences intense terror. She
is likely to be suffering from

(A) Mania (B) Panic attack (C) Phobia (D) Depression
ST 1 IR-9R o o gl Sl ST Bl ¢ S 39 STNfeeh i ohTel § | 98 TRl ST ©
fo =% T T B

(A) R (B) fa= fawr (C) gfifa (D) 3F99r]

State whether the following statements are true or false.

(a) Applied psychology is primarily focused on conducting research and advancing
theoretical knowledge.

(b) Environmental psychology studies the relationship between people and their physical
environment, exploring how factors like design, nature, and space impact behaviour
and well-being.

Fand foh = fIU 7T Fer | § A1 316 |
(a) TS AR AT HH o HGI<ash T 1 3T T R Wi o9t Bl |

(b) AR FAIfTRH @i 3R 3k «ifder waferl & = HeY & 75 T 9% fesied, Yahfd
3R T S HRH] 1 SHTRGR F HTAT T YHTE 1 ST 6 ¢ |
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22. Recognise the ‘concept’ characterised in the following statements :

(a)

(b)

Adolescents might think what ideal standards are and they might compare themselves
and others against those standards.

Formal operational thinkers can solve problems merely through verbal presentation of
the problems.

freafafaa ol § uftafea 9y’ i ge=m sifsg)

(a)

(b)

foreiR dra gahd € T oTeel A 9o § SR o 39 Wl ¥ GE St 3R ORI i gor R Hehd
gl

siroenfian Wisharcrss faeme aweneti ot Hifgs yfa & A1em | Geei o g H qohd
g

23. Preeti experiences repeated and unreasonable thoughts about dirt on her hands. Thus, she
washes her hands every time she touches something. Which of the following (any two) is
True of the condition that she is facing ?

(f)

She is affected by obsessive-compulsive disorder

She can control her preoccupation with specific ideas or can also prevent herself from
repeatedly carrying out a particular act.

This affects her ability to carry out normal activities.
She often finds these thoughts to be unpleasant an shameful.

Her symptoms include recurrent dreams, flashbacks, impaired concentration, and
emotional numbing.

Compulsive behaviour is the need to perform certain behaviour over and over again.

T SR-aR o9 el W o gt 9 59 foaril o1 oTya it ©1 sHfae o foRe off awg & e
% 91g T At 1 Fre A ag e o (iE ) affeafae o am e @ e

68/ESS/1-328-A | 9 i | Contd..
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T ¥ Y 3T ! Tk Fehall ¢ |

T GUTE 3T T fshen swardi & frded w ot g g1
STfYeRaR TH 3T 310 I foaR g8l 3 a1l o IS T ©
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24. Identify whether following statements are true/false in relation to memory process. 1x4=4

(a) Procedural memory is a type of non-declarative memory that involves the recall of
skills and habits, rather than facts and information.

(b) Memory is a single, unified process.

(c) Chunking is a strategy where information is grouped into meaningful units, making it
easier to remember and recall.

(d) Elaborative rehearsal, which involves making meaningful connections to information,
is generally more effective for long-term memory than simple repetition (maintenance
rehearsal).

fa gfshan & 9N H 71 FoAl S I/ 37 8 Hi TedH ST |

(a) Sfshan goteh gfa, TR soomerss Tgfa 1 TEn YRR © o 9o wd 9l st o7der qar iR
ST ol ARG LA FHATAd |

(b) T T ThiHd UfhaT T |

(c) T fafy weh WE Wi ® fraes eima S w1 srefqol sl # U@ wier st & &
3% ARG Y YA: I LAl STHH & S|

(d) gfowga qatem o gemmet § stefqut dey wenfud fran s g1 e (FeEme gaiems)
! ol | WIYROE: Sl i % fae stfus gumeeed g §)

25. Rakesh and Manoj's ego devises strategies to divert energy to safe activities to protect itself
from the demands of the id. Thus using the defense mechanism to reduce anxiety. State the
defence mechanism used by them in each statement. 1x4=4

(a) Manoj is diverting attention from the anxiety-causing urges to acceptable activities.
(b) Rakesh is forcefully suppressing the anxiety causing memories or events.

(c) Rakesh is refusing to accept the existence of anxiety-producing events.
(

d) Manoj has unacceptable impulses, which are denied entry into consciousness and are
projected (displaced) onto others.

TR TR TS T 3TeH 38 i HIT | =™ & fore et ol grfara nfafaferdi § sgem st ot Tar
FA T TH e 98 AT Tawl 9 T & ToIu 1@rds o gAN R W@ B 1 TS FUH § 6 g
T &GS 1 M S |

a) AN a1 U1 L el sou1sll ¥ £ gl S Wi Tifafafe=l sl SR Hig ol ¢ |
b) TR o 3cq=1 FA et Tl a1 seiet Sl derges < X ¥
c)  Toh¥ T I A ATl TR &k TH hl B TSR @I ¢ |

d) WA H SR ST B 38 3% =ael ° Yo 9 Sfud i fean © oIk 3% gud oiR wafta o
fen

(
(
(
(
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26. Match the following : 1x4=4

(a) Schemas (i) The application of techniques that worked in similar situations
in the past
(b) Heuristics (i) Cognitive frameworks that represent our knowledge and

assumptions about the world

(c) Trial and Error |(iii) The simplest problem solving approach.

(d) Analogy (iv) General rule of thumb, which are based on prior experiences
and are mental shortcuts, which may or may not lead to the
desired solution

=1 =1 e =ifee

(@) e (D) e qerfient a1 ST ST et § wuE Rl § o g A

(b) wrffesa (i)  FTeTer TR S GOR % a1 § gAR JH R GRS 1 S
AN L 2

©) wewym | oo g R T e
(d) wrertsht (iv) g fom St gl srgeel W seria @ 2 ot aefhes wiidee 3 S
T Fifesd THIEM Toh o 511 o Tk & A1 1 |

27. Identify whether the following statements are true or false in relation to emotional intelligence.
1x4=4
(a) Salovey and Mayer defined emotional intelligence as “the global capacity to think
rationally, understand the world, and use available resources effectively when faced
with challenges”.

(b) When people lack emotional intelligence, they experience problems in the family,
workplace, and interpersonal relationships.

(c) This concept was first introduced by Salovey and Mayer and popularised by Daniel
Goleman.

(d) Salovey and Mayer’s definition covers four aspects of emotional intelligence; they are
emotional perception, emotional integration, emotional understanding and emotional
management.

At gfg & Hed # frfafad we T a1 3/ §, #1 9= Sifag |

(a) HrET 3R HAX 7 G 9§ I 36 TR TR fopa ¢ TehETd 9 § Hier iR fova =l
T 9 ATl 1 FEAT 81 TR ST Sl o HICTTH START T & o7 i Afvaeh ear’’ |

(b) & @R § Hormedeh g i HH Bl § A1 98 T IRAR, FREIA IR UReies At
Gaiel # ot gfvehall 1 ST F ¥ |

(c) T8 STAYRN HAGAH Haire SR TR 1 yfearied i off 58 S Mo 3 wesiia foea |

(d) et 3 TR GRS TE uRT | WA §fg IR 9T €, S T WIEATeHeh HR0T, MEETh
TehIehT0T, MTEATCHe: A 3R JTa T Joie |

[z
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28. Identify four statements showing the characteristics of an Effective Leader. 1x4=4

(a) Effective leaders work hard towards the achievement of goals but are not driven by the
desire to excel.

b) Have good communication skills and are self-confident and assertive.

c) Effective leaders are open to new ideas, experiences and can be flexible.

(
(
(d) Such leaders have high personal integrity and maturity.
(e) They have good interpersonal skills.

(

f)  They are not considerate and do not have the ability to listen.

frefafed # | =R weAl 1 98=M SIS S YT Fdl % 8o Geikid i B

(a) TS a1 dei bt Wi o foTt el Hed hid § T Schtedl U i i o1 ¥ qifad =&
B |

(b) T TS HAR hIvIe WA § qen o1eq favaret 9 g feesht 2 €1

() 9Tet =T U foam, el % ufd gol B € SR ot oft & "ehdt €1
(d) T @ § 3= AfFmTa gt SR qiaded gt |
(
(

e) STh UM 3T UREANH HITIe B ¥ |
f) o7 foemeha @ € iR 7 € T g e gt 2

29. Fill in the blanks by choosing the correct option. 1x4=4

(a) People suffering from become euphoric or experience ‘high’, can be extremely
active, excessively talkative, and are easily distractible. (Mania/Phobia)

(b) are characterized by disturbances in prolonged emotional state. (Phobias/
Mood disorders)

() The most common mood disorder is . (anxiety/depression)

(d) Gender plays a great role in this differential risk addition with respect to depression.
are more likely to report a depressive disorder. (Men/Women)

T fashed =1 gE R Rea Tl &0t gfd St

(@) ¥ difed o sTenfus SR B S ¥ 91 IS’ STME T © AR ST Wishd,
TNt ST iR a9 faafera & S €1 (Sme/gifa)

(b)y _ T O q% Goeas fefq # eedt % w9 H uRafia 2t T
(gHifd/wreem faer)

) TIIIIEHI TR fadrRE | (a1 seEe)

() T favce Sifew savR gfg d o i Aum e 199K 9% 29 &t §9e

a1feren 2t & 1 (el /wfgemsti)
EEE
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SECTION - B/@Us - @

30. What is applied research ? 2
OR

Describe any two goals of research in Psychology.
‘I STHN T 2

AT
HrIfe ® wier o fer=el <1 wedt s o hifer
31. What is an illusion ? 2
‘yq’ e ?
32. (a) Whatis Adolescent egocentrism ? 2
OR

(b)  What is idealistic thinking ?

(a) ‘oI sTEonfoaal’ T2
AT

(b) ‘STERIEET HE' R ?

33. Ramit had mastered the ability to pick up the tiniest objects between his thumb and forefingers 2
by early childhood. Explain the fine motor abilities that he is likely to achieve by age 4 and 5.

A 7 3T TRt B & B § Brel awg 1 7Y STl 9 SIS i Herar ¥ 38 H FHgorar yre
F oA oft | THREY o 4 91 5 9 Y o1 Ak oE SR hi-hi E GaH HIeX Ty fehfid s o 2

34. Raman has a high IQ. Is he likely to be high in creative tasks ? Give reason for your answer. 2
T i Jfgafsy S5 & | 1 I8 Hd ¢ T I Tt el § off ST e 2 39 Ik geT H HRoT
difs |

35. (a) Giridharan was feeling better after attending the therapeutic session. Explain the next 2
step initiated by his therapist.
OR
(b) Suggest any two strategic to maintain health and well-being.

o~

(a) Tres T fafecfa 99 § 9F o1 & 918 3181 Heqd X Wl o911 39+ fafwcds g 33m
S ATl ST HeH hl GHHE |

SRE]

(b) TTEA TS HEAV I 51N =g fh=l o1 T o1 O hifeTT |
ErE
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36. A psychology professor is analyzing the test scores of a class of students. He collected the 3
scores and wants to provide a summary of the scores. Discuss the advantages and limitations
of using the mean and mode as measures of central tendency in summarizing the test scores.

Teh I AT THER STIT el & BE1 & T0eT H YT 37ehi ohl fIveioor s W ® | Se Tl STl
I AT T 81 ofd 98 7 Sfohl o1 UR YSM 31 =6d &1 Iien W WK 3fhi 1 R 9 H
T L TC hia ggfa o A7, H1ed T dgereh o Y F S st == i |

37. (a) When Nazim held a finger in front of his nose and slowly brought it closer, his eyes 3
turned inward as his finger was nearer. Explain this phenomenon.

OR

(b) Meghanshi is an Air traffic controller. She has to constantly watch and monitor signals
on screens. Explain this type of attention.

(a) & IS 7 ST SR ATk o FHA LA T AT o THY i O IHeh! ST IGhT ST hi
GUIIdT F G IHHT MG 3T HT AR TAN TE | TH AT Y AT HY |

SRE])

(b)  TEIE Tk S A 25 §1 I8 AR Bhid R Fehdl Sl S@AT 9 HiAlel HET T ¢ |
STGYM % 39 YN hi AT HIfST |

38. (a) State the features of any one type of Reasoning. 3
OR

(b) J.P. Guilford was a pioneer in the field of creative thinking. Explain any one type of
creative thinking that he proposed.

(a) ‘TR’ fRdl T TR I foRmarsti &1 Seoi@ HiftT |
srerar

(b) SO RTERE WA a7 & &3 & 3W-gd 91 39 gN fauiied fRel T YRR &
=T feae ol S Shifsa |

39. (a) Why does social loafing occur ? 3
OR
(b) Explain the phenomenon of Groupthink.

(a) ‘TSR TWRER F B E ?
srerar
(b) ‘e T’ I HeA hl FHIAES |

[z
68/ESS/1-328-A | 14 i | Contd..



40.

41.

42.

43.

44.

45.

(a) Sachin is an entrepreneur. His qualities, such as good mood, openness to experiences, 3
as well as knowledge and intellect related to the area of concern will influence the
likelihood and extent of change in his attitude. Do you agree with this statement ? Give
reasons for your answer.

OR

(b) By taking any example of stereotype or prejudice, suggest any three strategies to reduce

it

(a) e T ST T 3TH U S 3T g, SVl & YA G, 3T & H IH @ IfF
srfugfa afteds i Guremed § gig i €1 97 379 39 Y Q Teud € 2 379 S & &l
T R S

areraT
(b) Tfedl a1 JaREl 1 s T ITELT T 5% G < i Tohral i O ol Feial SHTC |

What is PTSD ? Explain its symptoms. 3
WA TEE. FNE? THES AV I AR HIY |

(a) What are Self-Report measures ? Give examples and limitations of the same.
OR
(b)  Explain Abraham Maslow’s theory of personality.

(a) STTcH Yfaaed ot O19 ®F § € ? IS0 ST iR Skt S srargd |
3YAT
(b)  3TeTeH ARl g fou T s & fagr i =men &It

Describe the evolution of psychology, highlighting the key milestones in the development of 5
the field.

TR &5 % Y@ Hidl & Yeerll o forehTe o Ykl Sleld gU 3HF 3a ek sl U SHifST |

(@) Ruby listens to a song and wants to memorise it for the school competition. Explain the 5
three stages of memory processes that will take place.
OR
(b)  Mukul is helping his student remember the answers for the examination. Explain the
techniques he can suggest to his student to enhance his memory ?

(a) TS Uk T Gl © IR e i yfaeifita & faw 3§ =g e 9edt § 1 Wi ufskan &
wfed B arel diF1 =N o1 faeeor Sifsu
3YAT
(b) TH I B H T & T TS IW AC A H TR B @I €| 3T qohri[ohl 1 q0H
HifST foTent gema o Ffa 9gH & T 197 SE &l < Tehdl B |

What are the Issues and Concerns during Early childhood ? 5
YRS e % SRH A 9 4 o foward 2t €2

-00o0-
=] z2m]
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OLD SYLLABUS /QUHT UtIchH

PSYCHOLOGY

e

(328)

Time : 3 Hours | [ Maximum Marks : 100
| : 3 9Ue ] [ gutiek : 100
Note :

This question paper consists of 46 questions in all.

All questions are compulsory.

Marks are given against each question.

Section-A consists of :

(a)

(b)

Q.No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.

Q.No. 18 to 25 - Objective type questions. Q.No. 18 to 20 carry 02 marks each (with 2 sub-
parts of 1 mark each) and Q.No. 21-25 carries 4 marks (with 4 sub-parts of 1 mark each).

Section-B consists of :

Q.No. 26 to 31 - Very Short questions carrying 02 marks each to be answered in the range of
30 to 50 words.

Q.No. 32 to 36 - Short Answer type questions carrying 03 marks each to be answered in the
range of 50 to 80 words.

Q.No. 37 to 39 - Long Answer type questions carrying 05 marks each to be answered in the
range of 80 to 120 words.

Attempt any one of the two optional modules given :

(a)

Q.No. 40 - 46 - Here Q.No. 40-42 are Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the four options given in
each of these questions.

Q.No. 43 - 44 are Objective type questions carrying 02 marks each (with 2 sub-parts of
1 mark each).

Q.No. 45 consists of Very Short questions carrying 03 marks each to be answered in the
range of 30 to 50 words.

Q.No. 46 consists of Long Answer type question carrying 05 marks to be answered in the
range of 80 to 120 words.

ORe0)|
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(i) T9 U UH H FA 46 TH T
(i) ot T AfEE )
(i) T I F WA 3k few T
(iv) Ee-o ¥ wWHa ¢ :

(a) WH.1¥17 T 1 3% & dgfaskicad 79 &1 370 =R foshey feu o 8, sof & gaifys Sugw
forshed =1 =F Y fefET |

(b) WH.18 |25 - T o TS T ¢ | T.H. 18-20, 2 37ehi o & (1 31 o T SR Wfeq) IR (1 3iF
% A ITYFT Afed ) W, 21-25 T o Y 4 37 © |

(v) We-| ¥ e g
(a) WH. 269 31T 02 3k ATl Al oy ¥eA &1 S I 30-50 dh veal | o €
(b) WH. 329 36 TH 03 3k TcT oY ITIT YA & | SR I 50-80 7k Ireal H < T
(c) 9. 37 939 T 05 3 Al el 3T U ¢ 1 Tk I 80-120 wIsdi H < ¥ |
(vi) B Jenfeuch ATSTel U O TRl Teh T WaTd i | WH. 40 - 46 T |
(a) WH.40-427TF| 1 i & sgfashed! 99 & | 997 & fow =R foshew feu wu € 399 9 3faa s
TR T |
(b) WH. 43 - 44 TH 02 3% & (1-1 31F & I U9 Afed, agF= T ) |
(c) WH. 45,03 31 1 T IIF U T1 TSk W 30 - 50 AR H A1 £ |
(d) WH. 46, 05 3k 1 ¥ TG T &1 ST 3T 80 - 120 I3} H T R |

Note / gt .
(I) Answers of all questions are to be given in the Answer-Book given to you.
[t JeAl o IW ATl I T IW-gRaen § & foare |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

TG YI-UF i TeA & fau 15 fee o1 9o foon o §1 wsA-u ot foaeer Sruer # 02:15 99 fohan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TH A & IRE A
SRR W FE W &l fea@i |

ORe0)|
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SECTION - A/@Us - <h

1.  Non-visual cues that help in the perception of space, are called so because :
A) They emanate from the retinal image

B

~—"

They produce double images

C) They do not emanate from the retinal image

(
(
(
(D) They fall on the disparate areas of the retina

TR-39 Hohd Sl T () T UROT H HSE I §, 3¢ UHT hal Sl § Hifeh :
(A) 3T sfa @ fiher €

(B) o T Bfy fafifa & €

(C) & e ofa | Seq= -1 B €

(D) A YfeT % 3TEAE & R iR €

2. Identify the illusion given in the figure below :

N a
/ N

yd N

AN s
(A) Ponzo illusion (B) Vertical Horizontal illusion
(C) Muller Lyer illusion (D) Moon illusion
= feu e fo=t 7 fou @ 9w =i w5 ¢
N '
/ N

el N

AN s
(A) ISy (B) iR &fas yH
(C) TR @RR 9H (D) =g 9™

[z
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3. If you look at an eagle while it is targeting its prey, there is complete physiological and 1
mental preparedness to catch its prey. This shows :

(A) Alerting function (B) Functional fixedness
(C) Perceptual alertness (D) Vigilance alertness

gfe g fordl 11 =l ST T @A § 5o I8 9 R &1 Fmn o1 @12 ®, 9% o1 e
! Tehed & fae g wiftes o) Amfae o # S €1 a <o R

(A) <dreHt 37 STel wE (B) YehricHeh feercd
(C) STIYRTIHSE Haehdl (D) Wdeh g Hachd]

4.  While walking alone in the right, I suddenly hear footsteps approaching. My heart beat 1
increases, breathing becomes short and rapid, pupils dilate etc. This is due to the activation
of :

(A) Hypothalamus (B) Sympathetic nervous system

(C) Parasympathetic nervous system (D) Somatic nervous system

T H 31ohet FeTd TH 3TEHS Gt fohdt & o1 hadl ot o7 GE <ot § 1 W foa 6t o =g it
¥, T eI IR O 2 9l <, Yaferal thel Sl €, TS | 78 THeh! ekl o HROT B § ¢

(A) TEUEAEY (B) STIEaE T <
(C) 3TG-3TIHaS T (D) ok ¥Rt a3

5. A student who is fluent in the Hindi language finds learning of Sanskrit easy. This is due to: 1
(A) Negative transfer (B) Zero transfer

(C) Positive transfer (D) Neutral transfer

T B S &t 9o & Ui &1 38 HEhd WA ST @l €1 S9! 996 ©

(A) TTRRIHE I (B) [ T
(C) HehRRIcHS I (D) E T
6.  Which one of the following is not a part of emotional competence ? 1
(A) Emotional maturity (B) Emotional intelligence
(C) Emotion management (D) Emotional theories
frfafad o § S TacTh &a 1 e Tal § 2
(A)  HTeTcHs TRl (B)  relTcHeh SfgH
(C) W& YaEA (D) wreHHs fagia

[z
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7.  How can we identify whether a child has got dyslexia ?
(A) Fails to distinguish between mathematical numbers
(B) Fails to distinguish between some alphabets
(C) Fails to ride a bicycle
(D) Inability to speak any words

forelt s=a =1 fexifoan €, 2% 89 9 989 9hd © ?

(A) T TEmsi & o IR i H fawe & S
(B) T TUMICNeTl & si= R A H fahet & ¥ |

(C) wrfha 9a™ § fawer &1 ST § |

(D) 18 ot Wsg sliel § STHHe |

8.  When does anxiety decrease the performance and health of an individual ?
(A) When anxiety does not exist.

(B) When anxiety is at a high level

(C) When anxiety is at an optimum level

(D)

When anxiety is low

ferd el <afer & fTo9TeT T Tameey &1 FH L T § 2
(A) v e faemm T 2t

(B) = f<idl o9 =9 TR W Bl ¥

(C) = f<ar 797 goaq TR W &l S

(D) < feid %7 2t 2|

9. In facial expressions there are three dimensions of emotional expression. Which one of the
following is not a dimension of this ?

(A) Gestures and Postures (B) Pleasantness-Unpleasantness

(C) Attention-Rejection (D) Sleep-Tension

R (qE) &t sifyeafad | swrarreress sifveafad & @ e 2 § 1 - frefafed § @ sge
A TE 22

(A) TS qel 3TTE (B) FEUE-T:TE

(C) STIYUH-T=RId (D) Hie-qre

[z
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10. Which is the highest level of need, according to Maslow, when a person becomes conscious
of broader reality ?

(A) Self actualisation (B) Self esteem
(C) Love and belongingness (D) Self transcendence

TR o SER, 59 i Afdd T rEdfashdl & Ffd o &1 STl §, 1 STaehdl 1 3Taqq &R
HHA-TR?

(A) ecHfafg (B) ACH-THM
(C) Ywaam (D) &TeA-foream

11. The changes during puberty are dramatic because :
(A) The child has achieved all the developmental tasks
(B) The individual can now be allowed to make all decisions
(C) The child will soon become a full grown adult
(D) The child can take up a career

TEUIET (W) % SR UReiA Tewd B ¥, iR -
A) o= 7 et g #r wifae w fom €

= 1 Gt fola o it Tmfa & s weRdt €
C) o= Sfeg & Yof ek o ST |

D) F=al iR 3T Fehall ¥ |

B

~

(
(
(
(

12. A person whose personality is characterised by truth, detachment, cleanliness and sense of
control is said to have :

(A) Sattva guna (B) Rajas guna (C) Tamas guna (D) Dhyan guna
T At forer safa | wed, 3, Tresdn SR e it e Bt 2, 39 el S ©

(A) F= T (B) ™ (©) I (D) &I

13. The cause of an individual’s abnormal behaviour is due to chromosomal dysfunction. Here
the factor is :

(A) Psychological (B) Social
(C) Biological (D) Emotional
ot =fert o ST SAeeR i SROT RS ot SIfshan (hIaTe feathaw) Bt ¥ 1 7l wReh

NEE:EICEIIRED (B) WIS
(C) Sifasw (D) HIEAHS (HATHR)

[z
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14.

15.

16.

17.

68/ESS/1-328-A | 22 i | Contd..

What is Life space according to Kurt Lewin ?

(A) Whole psychological reality that determine the behaviour of an individual.
(B) The psychological reality that determine the belief of an individual.

(C) The psychological reality that determine the environment of an individual.

(D) Whole physiological reality that determine the behaviour of an individual.
e Afe & STTAR Sia T &1 8 2

A) Gl T Srafasha S fRE Safad % SaRRr w1 fgiia S §
B) TSR ardtoshdl sil fhe At o foreare w1 feifd w2

C) TG arfoshdl sl fhe Ao o arareRer i Feifa &t §1

D) Hyul yRiRes areafeasrar st frdt =afad & reer 1 i st 2

(
(
(
(

Behaviour modification techniques are based on :

(A) Social learning approach (B) Operant conditioning
(C) Classical conditioning (D) Psychotherapy
SRR WG qeheilah 7 W o1 €

(A) WIS HiGH giteeho (B) Efha ergper

(C) WMEAT STt (D) wIfefehea

Which one of the following is not a part of the medical model in the treatment of disorders ?

(A) Electroconvulsive Therapy (B) Antidepressants

(C) Antipsychotics (D) Free association
ol & SR 7, Freafafaa & @ =0 @ fafea diga + feem @& €2
(A) Taga faferen (B)  STorTERIEf

(C)  FHoRRR T (D) T W=t (T THIT)

When a new teacher joins a school, students form impressions about the teacher by giving
more weightage to the :

(A) First impression (B) Subsequent impression
(C) Similarity (D) Aftiliation need
9 h1g T et forddt what ® wnfhat €1 §, @ o 1 9l @ eifues mew o e & e
RO FA &
(A)  TIH YR (B) T 4RO
(C) HMd (D) HeGHT hi SATSTIHH
[E A



18. Given below are the two stages of moral development. Fill in the blanks with the correct
options :

(stage 1, stage 2, stage 3)
(a) Child judges action by intentions and not consequences. This happens in

(b) Child obeys rules because they are sacred and not changeable. This happens in

Afcen forerme & < =X = ol w1 wE faenedl § R wom o

(=U-1, =RO1-2, =O1-3)

(a) =T HIFATEl 1 Hodich TG W Hdl &1 TRomT | T 1w ERGI
(b)  w=a1 FTH! 1 e LT |, iR o e § SR eRadda Sl T HEm§l

19. Choose the correct options from the words given below :

(Catatonic, residual, paranoid)

(@ In schizophrenia, the patient is preoccupied with one or more set of ideas.

b) In___ , the patient display unusual pattern of motor activity and speech
disturbances.

A Fe e e 6 ey

(herelfeh, srafTe, =mHE)

(a) TAIfIged o W Tk @1 e faeml & = & §

(b) T ft Tk fohamehemmd SR () e Helt TEeet S STHMR R Y
AT |

20. Fill in the blanks with the correct option given below :
(social-cultural, physical)

(a) Natural environment like climate, terrain, temperature, rainfall etc. are examples of
environment.

(b) Those aspects like norms, custom, process of socialisation are examples of

environment
e few 7T wE forehed @ e wom W
(grTfSTeR-Tieepfaes, Wifae)
(a) Ihider TAToR0T S Sarg, YUFT, A9EE, 99t efe % ISR § |
(b) HFeEE, Afd-fam, asiem FT AfFT S e TFiaR % SR

[z
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21.

22.

The framework of Dharma provide a set of values which is important for sustenance of life. 4
Match the correct Indian value with explanation given below :

Explanation

Indian Value

(a) Keeping tolerance

(i) Indriya Nigraha

(b) Control over one's (i) Dam
sense organs
(c) Control over anger (iii) Driti

(d) Control over self

(iv) Akrodh

¥t} 1 Gl Yodi o1 Ueh e YSM Sl & ST Siie a19 & fae Teweryul €1 = fau e eyt &

1Y T AR o ol e &

TqeSTh T0T

RIRGIR R (D)

(@) EEIRATdT SHT &
(b) 7o Efet R o T
() e o FHEs W

(d)  31TeR W R e

O shafme

(i) =m
(i) gfa
(iv) T

Choose the correct answer out of the various options given below :

(Occipital, Parietal, Temporal, Frontal)

(a) The function of the
attention etc.

(b)  The auditory functions are
(c) This

dealt by the lobe.

lobe is specialised for vision.

(d) The sensation of touch and sensations, is regulated by

o feu fafu= faeedl # @ T& S A

(ITIHITA, IR, Tifcheh, TAe)

(a) TG B THE, ASHL AM e . e T & R

(b)  gar Heielt Hrd e gR1 el 9 7

() J|®___ W e & fou favmiea 7

(d) o9t iR emyfa =t Hae e & gR Gt ardl ¥

68/ESS/1-328-A |

24

lobe include coordination of movement, planning,

lobe.

ORe0)|
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23. Fill in the blanks with the correct answer, out of the options given below :

(Feedback, primary reinforcer, meaningfulness, secondary reinforcer)

(a)

Reeta can relate to the topic that the teacher is teaching, and hence her rate of learning
is faster. This is due to

The teacher always gives tips to enhance the students learning. This is an example of

A teacher gives a star to the child who writes neatly and underlines key words. This is
an example of

Students in many areas are given mid-day meals when they come to school. This serves
as a

= fou 7Tt fasedl § 9, Red T o ot SW fod .
(ufagfte, wrefher Qecrsh, Treferdr, gt gsicrn)

Ta1 34 fowa & e gadt 8, 4 foreres vet w1 &, iR sufay S9! Hiem &t SR a1 81 S9at
EEERS |

foreren =09 BE @t HWEA &1 i @ SgM & foe fowm 39 ¥ 1 @@ SR © |

Teh STEATISh SH =9 ] LR <1 § S Ah-G foraar € IR qe-fagsil 1 Waifehd F=ar g1
g IS © |

=g 9 & o fomnfoEl @l Tpa o W I9e 1 WisH oo S § 1 9% T w9 |
HT BT R

24. Fill in the blanks with the correct personality assessment method, out of the options given
below :

(Thematic apperception test, Rating scale, Projective technique, Personality inventories)

(d)

Questionnaire where a person has to answer many questions about the way he/she
reacts are called

When a person is asked to describe the self confidence level of another person in a
range starting from high to low, he/she uses a

When indirect symbolic information is used to uncover the unconscious, then
psychologist uses

When the ambiguous material is in the form of pictures, is being used.

= feu U faehedl § & W& =faac geaiohd dgfd 9 Red s o)
(fordfes Tmiw e, T wha, USifaed de-ish, Sfaaa =)

(a)

68/ESS/1-328-A | 25 i | Contd..

YT, STel ek saferd ohl 3791 Ifdfshan & aiteh & o H s Faa-Sa@ eI 8d e
FHEaATd |

9 foreft =afed @ g =Afe & sTcAforvard o TR 1 9vi I=a 9 e Foft | 63 1 el S
G T TN LA |

e 3T9cIe] Yol TehTcHeh ST ohT ST ST=d oh] ISR i o fTU o ST € o« HeTa=eh
1 YA HAT B |

e T 9l ol o &9 H § Al &1 3qAN fopan San ©

ORe0)|



25. Fill in the blanks with the virtues that are encouraged in the Indian society, from the options 4
given below :

(Charity, justice, prudence, fortitude)

(a) Hardship that one has to go through for one’s own benefits is
(b)  Using reasons for one’s benefits is

(c) Helping and forgiving others is

(d) Fulfilling obligations to parent and respecting their rights is

= feu T fomedi ® | 37 o1 9 Red M W 9 IRdE 99 | iedfed fovan Siran ®
(3M, =g, foas, 94)

(a) AW AT F U fFft mpfemeA Ao T

(b) TR B YA AW F AR ¥

€ T A ACHFATEICARHRA T

() wrar-far & gfa il o QU wE SR SAh ARl mHHH R )

SECTION - B/@vUs - @

26. What cognitive changes takes place in the adolescents when they enter Piaget’s formal 2
operation stage ?

3o TR foams & afioenfiss Geme =10 § Y99 3d § df 379 o1 HaHTeae Ifiadd eid § 2

27. How do the elderly persons perform on the intelligence test ? 2
OR
What are the problems of adjustment faced by the individual during old age ?

St safe g Tderor § HEr YeuE i € ?
aterar

TR o IR AT I FHRTSH 6 o THeAail o1 AT T TSl © 7

28. List some developmental tasks during adolescence. 2

foReiRTerEen & SR $o foerarcs Sl bt F=t 51 |

29. What is the difference between obsession and compulsion ? 2

TR 3R e | A 3T § 2
E32E
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30.

31.

32.

33.

With the help of examples differentiate between pro-social and anti-social behaviour.

OR

Give suggestions to your friend on any two ways to develop self-control.

ST ht WErdl § Wfa-HmSe 3R SIS HeeR & o= & Aq Hl T B |
SPE]

3T st ol AT - e fasfaa & & fordl < aliehl W gema i |

What is environmental psychology ?
OR

What are threats to environment these days ?

qq?d{ul H"Ilroldl"l =T %7
a1
FAHM W YT sl 1 Tl § ?

What are parenting styles ? Explain the various styles.
OR

Our perceptual sets influence perception. What are these sets ?
Te-drT 1 et @ € 2 fafue dfer w1 wmed |

SREI
TAR TATTR THE T Sl JIfod Fd €1 3 Hg b ¥ &2

While attending we can process one task at a time called serial processing. Why does this

happen ?
OR

Artists create depth in their paintings even though their canvas is two dimensional. What

are the cues they use ?

T Uk 99T H Tk & 1 okl AT L Hohd o T8 shileh TH&RI0 el Sl € 7 THT &) BIdl © ?

YT

FHeARR 394 Tosi # Tews U i § 9ol B SR Ky fesmat 2 o foRa Hehdl o SUEM

Exch S

ORe0)|
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34. Differentiate between the three types of conflicts that leads to frustration. 3
OR

How do emotions influence the individual ? Discuss the three basic aspects of emotions.
TR &t 3R & STH 9Tl i YehR o HoH1 oh o o 3{aX hl TIE HY |

SPE)
o7 =afead w1 Y e St €2 AT & o9 i Teesti W =t o |

35. All therapies based on operant conditioning follow some basic steps. What are these three 3
steps ?

FoRaTIEa sTIRed T NHRa 9+t STaR $© ISt RO &l I hid &, d 99 =0 i 9 8 7

36. Give examples to show the contemporary problems faced by adolescents. 3

TRl g0 | foru ST arelt IHEm s THEnel i g9iH & fau Sere s

37. How can the elderly cope with the problems of old age ? Suggest any four effective coping 5
strategies.

OR

Discuss the internal changes that take place as one grows old.
I AN T HT IS T AT FY FA T2 T THEART N GEAT FHH P hIS IR AT
TO o |
SPE]
Y F I ok AY-T1Y T TSl A qRedHl W) == |

38. How can one distinguish any behaviour as away from normal ? Explain the factors. 5
OR

Discuss various types of anxiety disorders.

o~

g TRl SaeR Tl T T 3T il X Hehdl § 2 HIhI ohl T HIfST |

SDE]

fafy= yepr o feian foeriid @ ==l e |

39. With the help of examples discuss the five factors that influence interpersonal attraction. 5

ICTEL1 Higd S UTd heh] hi <=l o I Ik Haieli shl HIfad shid B |
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40.

41.

42.

43.

Attempt any one of the two optional modules

2 A U foredt teh Jenfeuss ATgge &t &1 &
OPTIONAL MODULE - ‘A’

JenRfeaes Aigge - ‘T
Identify step in yoga which helps to focus the mind on a particular object :
(A) Dhyana (B) Samadhi
(C) Pratyahara (D) Dharna
39 W01 Y TEIH L SN AN H A Bl TR g fod W Shfgd ¥ aeg A
(A) =M (B) iy
(C) YRR (D) &mon

Which one of the following is not an organisation ?

(A) School (B) Hospital
(C) Bank (D) Village
frefafed & 9 % T 976 7@l § ?

(A) *=Fd (B)  STEHATA
(€ (D) =

A person with an enterprising personality will be suitable for a job like :
(A) Business executive (B) Banking
(C) Engineer (D) Artist
SR SAfddcd aren Aot TH Hrendt o T 3uge 2
(A) TIGE HEHR (B) s

(C) arfyan (D) AR

Fill in the blanks with the types of phobia given below :
(claustrophobia; social phobia; agoraphobia)
(a) is the fear of addressing public audience.

(b) is the fear of entering closed places

= fou e wifean o yR | g wWH R
(FATZ RIS, FTATRSTe WRIferT, TR )

(a) GreSiieh Aiansii sl Hellferd s &l <X T |
(b) % T H Jorw T 1 S T
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44. Fill in the blanks with the appropriate word : 2

(a) An employee receives education and training after entering the occupation. This

is called training.

(b)  During the course of one’s career an individual shifts his vocational role, this is

called adjustment.
3ferd o | e o w1 gfd e -
(a) TH FHHAR ! ™ H JA9 I o o1 187 7R) yiereqor o S ¥ 1 9 Bl
<hel ST |
(b) 3T9 HRER F IR T A ST Hredtah i sgat o 1 34 RLIRISE]
<hel ST |
45. Discuss the organisational factors that lead to job satisfaction in an organisation. 3

I WSS HRehT bt =l L il fohedl off T § hrd Tfte &t 3R & S |

46. With the help of examples explain some steps to manage time effectively in order to maximise 5
productivity.

SATGehdl i 3TTYehad HHT &l U i o fIT T9F 1 JoTel 1 9 Yafed 3 o & =100 Sl
ITeLY Hied fafau |

OPTIONAL MODULE - B

Yehfeues Uigge - ‘i’

40. Which one of the following is not a characteristic of good play equipment in the play centre ? 1

(A) Design characteristics (B) Constructional characteristics
(C) Educational characteristics (D) Disposable characteristics
Ta &g # frefafad § 9 1 o= T U i fadd T8 © 2

(A) Tesea (wrew) foRroand (B) YETeHe faRrand

(C) ey forroramd (D) Bret A feroand

[z
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41.

42.

43.
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Which one of the following is a characteristic of democratic discipline ?

Rules are explained before being enforced.
Children are not allowed freedom to do things on their own.
He is directed what to do and what not to do.

Demands complete obedience.

Frefafead § | &F F crehditaen STTeme t fagar 8 2

(A)
(B)
(©)

(D)

o o1 @] T | T80 SHE S ©

Foell hl STTT TSt W hTH hIA ki STSIGT TEY el B |

34 Fafem foran ST & foF o & &, IR ) 76 @
ol SRR T AT L 7 |

Nutrition education has been introduced for teachers in a Play centre. This education is
essential for :

(A)

(©)

Lowering the cost (B) Attract more students

For the health of the staff (D) For combating malnutrition in children

T T hg § forerent o faw droor fren 31& =6t 7€ €1 9e foren sifamd € -

(A)

©)

ARTT A A o o (B) 31k BT ! STehR{HT i o T
W & @y & fau| (D) wr=di § Ao § foes & faw)

Fill in the blanks with the correct answer :

(a)
(b)

The first socialising agent of the child are the

is the extension of home and supplements the home.

T2 I 9 R v &1 gfd &
(a) I % YW WIS STfiRl 2d B
(b) R T fawam T 3R R A1 T 7
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44. Fill in the blanks with the correct answer : 2

(Daily meals, avoiding noise, organising finances)

(a) is part of long term planning in a Play Centre.
(b) is part of short term planning.
3fad I ¥ R T & ‘{ﬁf I
(37 oo, TR | ==, fom- o)
(a) T e H et A o fee 7
(b) __ SIcqeIicrR Arsl 6l e B
45. How can Mahila Mandals help in the running of a Play Centre ? 3

Higel Hed Udl g I H Y Aee T Hehdl ¢ 2

46. While planning the structural details of a play centre, discuss how can one organise the 5
space for other activities ?

Teh T g & G e &) IS IF T93, 27 Tidfafea & fau T 59 safied
Hhd &2 ==
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